
Test1 

How many categories are distributed resources in Business Informatics? 

a) Five 

b) Three 

c) Four 

d) Six 

What are the four categories of business informatics resources? 

a) People, Data, Application software,Technological infrastructure  

b) Machinery, People Data, Application software 

c) Time, Data, Application software, Technological infrastructure 

d) Time, Machinery, Application software, Technological infrastructure 

In which part of the product reaches a product of the highest profit? 

a) Launch 

b) Growth 

c) Maturity 

d) Retreat 

ICT expansion is linked to the four key effects that affect the operating rules of the economy, and 

they are? 

a) Internal efficiency, Transaction costs, Restructuring, Knowledge management 

b) Internal efficiency, Transaction costs, Outsourcing, Knowledge management 

c) Internal efficiency, Production costs, Restructuring, Knowledge management 

d) Internal efficiency, Transaction costs, Restructuring, Cost management 

Which of the control theory functions does not belong among others? 

a) Planning 

b) Organization 

c) Leadership 

d) Control 

e) Realization 

As it is also called for Business IT Manager? 

a) CEO 

b) CIO 

c) CAO 

d) BIT 

 

 


